5.4 GCF.notebook September 15, 2017

Quiz 5.3 54

1 (3 point) Divide using long division. Find the greatest common factor (GCF) of the terms

2 Hllx+la 4x, 12 6x>, 124, 15x
x+4

2. (3 point) Divide using synthetic division.
X’ +8x% +x—42
x+3

4x°y*, 8x°y’, 12xy”

You Try Factor out the GCF
Find the greatest common factor (GCF) of the terms

3.5 2.3 4 Aazbz—&abs +18a’b*
3x7y7, Ox7y7, 12xy

A=k (2%54) +72
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You Try Factor out the GCF

Factor out the GCF _2b3 + 10b2 + 8b

6y’ —14y” +10y
—2b(L, 5L ,L(>

You Try Factor out the Greatest Common Binomial Factor
Factor out the GCF
> 4x(x-3)+5(x-3)
59> +10y A N

(X%) (éw +5)



5.4 GCF.notebook September 15, 2017

Factor out the Greatest Common Binomial Factor Factor out the Greatest Common Binomial Factor

3y(2y+1)-5(2y+1) (c+4)(c=1)+(5¢=2)(c~1)

3y (241 -SM(Z\NB

<27+l) <3y @\Lb\

You Try . . Factor by grouping
Factor out the Greatest Common Binomial Factor
4x—4ytax—a
4a(a-3)+3(a-3) (AT

‘ (y‘\’) +a Cy'ﬂ
SRACEN
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Factor by grouping You Try (make sure they do this one)

6x*+9x—10x-15

Factor by grouping

6z°+27+9z+3

You Try (make sure they do this one)
Factor by grouping

2
GX +2x+a+]

zx(m,)ﬂ(ws
<X+O(Zx+\\
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